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SN DEHHD
M HEDE 23HEY
Sel: HEnNs 2435 (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
WEHH 460,666 361,413 99,253
HAIDNE 25x4 60,666 61,413 ATAT
HEns 2435 60,666 61,413 AT47
Haeet HsSIXE 52,451 53,063 AB12
201 YEre gy 52,451 53,063 AB12
01 AtR 22| H| 6,132 6,740 2608
OO0IEXNSA SIAMA X 828 920 A92
OlEXSX MBADIM 2 58
23X 10,0002 +612 610 700 A90
Z2E E14 23X 218,000 218 220 A2
ONEXCARES 0IHYX DS AL 3,294 3,660 1366
SUHHDAM 2 25  ZA 75 0002 #3882 A 2,850 3,000 A 150
a2y EY AH 444,000 444 660 A216
OFIJIZADIZEA UEH2E S 2,010 2,160 A 150
CMEHESTAN 2 28
22X 75,0009 x182+ A 1,350 1,500 A 150
02 Z2=29H| 46,319 46,323 A4
ONEXNRESE NDHERL QB2 21,289 21,127 162
MNEHEEXM S(ED1)
AR 2,480 15824 %35 128 14,107 14,127 A 20
SUDXAN S(2er) BH 380RA+18,90004 7,182 7,000 182
OREEHIULL2UN SHQTAH LESRHE(S
1) ZA 1,373,000 1,373 1,526 A 153
OFIJIZADZEA V2RSS 2B 21,616 21,402 214
MNEHEEXNAM, BAEARN S(SI1)
AE 2,480 +515214 %122 15,327 14,388 939
SUDXA S(Let)
A 380R+1,379AH x 12 6,289 7,014 AT25
QOl2=H AL 2AIEEM(SDI)
AF 1,177,000 1,177 1,308 2131
OsER= 23X 864,000 864 960 A6
2SI S#IMH 3,215 3,350 A 135
203 YR =XH| 1,215 1,350 2135
03 Al Z=X P2 F Y| 1,215 1,350 A 135
OnE =3z ZA 1,215,000 1,215 1,350 A 135
HRsS(DS#HFD) 400,000 300,000 100,000
WEHNXS 400,000 300,000 100,000
EXUEHELIH HES 400,000 300,000 100,000
701 JIEIBIHSHE2 400,000 300,000 100,000
01 JIEISI HE =S 400,000 300,000 100,000
OFXEELE AN &2 ZF 400,000,000 400,000 300,000 100,000




